STRUCTURAL GEOLOGY
Final Exam Questions
31st May 2010

1. a) Using a streogram find the plunge and trend of the intersection lineation between bedding at 127/42SW
and foliaiton 38/46N'W.

b) Using a stereogram pass a plane through the lines 12/76NE and 146/12SE. Determine the strike and
dip of the plane.

2. Explain the following terms with the help of diagrams:
transpression, parallel fold, listric fault, shear strain, shear zone, pull-apart basin, cataclasite

3. What is strain rate, how is it described? Western Anatolia is extending in a N-S direction at a rate of 2
cm/year. Assuming that the extension occurs over a width of 400 km, calculate the current strain rate in
western Anatolia.

4. In the photo below there are photographs of four deformed and one undeformed brachipods.

a) Assuming that the deformation is by simple shear, find out the angular shear strain and shear
strain along the long axis of the deformed brachipods A, B, C and D.

b) Assuming that thédeformed brachipods has the same initial size and shape as-the undeformed
brachiopod, calculate e, and €, values.

¢) Draw a strain ellipse representing the finite deformation associated with the deformed brachipod.
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